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4 3 2 1

EFEH 62%| 33% 4% 2%
BFER 49%| 38%| 12% 2%
REH 46%| 41%| 11% 2%
N R 49%| 41% 8% 3%
HF 39%| 46%| 12% 3%
AREF 73%| 20% 2% 5%
SE2HE 52%| 38% 8% 3%

2 Z4F, BERLPT S, TEICEZTSAFEFITN?
2

4 3 1

EEFR 65%| 27% 4% 3%
HEFER 69% | 26% 4% 1%
HEER 49%| 36%| 11% 3%
HhEARE 46%| 41%| 10% 2%
EE 41% | 43%| 13% 3%
KEH 71%| 24% 3% 2%
3ELHE 55%| 34% 8% 2%

3 SKADENREZP, FFRAE—FEFBEYTIAM?

4 3 2 1

EER 64%| 29% 5% 2%
BFER 62%| 31% 5% 2%
HER 49%| 37%| 11% 3%
HhFE S RE 54%| 36% 7% 2%
B 50%| 40% 8% 2%
AER 83%| 16% 2% 0%
FEEXS 58%| 33% 7% 2%

4 KEQOEMPOBAIAFIXEIATVSEENEIAN?

4 3 2 1

EEF 60%| 33% 5% 2%
R 58%| 32% 8% 2%
RER 49%| 36%| 13% 3%
HhEARE 50%| 41% 7% 2%
B 41% | 41%| 15% 4%
KER 73%| 23% 2% 1%
SELHK 54%| 36% 8% 2%
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4 3 2 1

EFEH 67%| 26% 4% 2%
HER 66%| 27% 6%| 0%
EER 52%| 35%| 10% 4%
N R 47%| 39%| 11% 4%
b 42% | 38%| 16% 4%
KEH 71% | 25% 2% 1%
32K 56%| 33% 8% 3%
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6 REEZRTT, HEDFEALERMAMLLELERETEEIA?

4 3 2 1

EFEH 50%| 38% 9% 4%
BFEE 51%| 37%| 11% 1%
RER 40%| 41%| 15% 4%
HhENRE 42%| 46%| 10% 3%
Rl 36% | 48%| 13% 3%
AKEF 66% | 29% 3% 2%
SELHE 46%| 41%| 11% 3%
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